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 Reid’s Weekly Living Environment
 Homework Packet

Due before class starts on Wednesday, 
Name: _____________________________________________________

Period: ________
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 Important Reminders:

· HW 14 is due January 19th
· Quick Quiz this Friday!!!

· Your Final is on January 24th  at 1 PM




Cellular Division

The cells in the human body can be separated into two different types: ________ cells and _______ cells. In order to made new cells and older cell must divide. This process of ____________ a cell to create new cells is called cellular division.

         Body cells are any cells that are in the body, except for sperm and egg cells. Body cells divide using the process of ___________. This type of cellular division results with two cells that are exactly the ________ as the original cell. In other words, these new cells are _________ of the original cell. 

          Inside the nucleus of a cell, there are tightly coiled molecules of _______. These coiled DNA form _______________. Our __________ are found on the chromosomes. These genes give us our __________ or characteristics. In humans, each body cell contains 46 chromosomes or 23 ______ of chromosomes. It is very important that when a cell divides during mitosis each new cells has the right number of chromosomes.

          Sex cells, also called ___________, are cells like the egg and sperm. Sex cells are only found in the __________ of females and the _______ of males. When these cells divide, they use a process called ___________. Meiosis is different than mitosis because of instead of the _________ cells containing 46 chromosomes, these cells end up with only 23 chromosomes. The reason why these cell have 23 chromosomes is because when a sperm _____________ an egg, the combination of the number of chromosomes will be 46.

Also, meiosis also allows ___________ combinations of genes since half of the genes come from the _________ and half comes from the _______. This makes the offspring different from both parents.

Name: _________________________________ Period: ____________ Date: _____________________

Punnett Squares
Directions: Read each example. Complete the Punnett Square for each example and answer the all questions.

All individuals have a set of genes from each parent.
There are two types of genes: dominant and recessive.  Dominant genes are represented by a capital letter (example “A”). Recessive genes are represented by a lower case letter (example “a”).

The word homozygous means the same genes (example AA or aa). The word heterozygous means different genes (example Aa or aA).

The word genotype means what in the gene combination of an individual trait (example: AA, Aa, or aa). The word phenotype means what the physical appearance of an individual is (example: brown eyed, dark skin, small nose).

The phenotype of an individual will be dominant if the genotype is AA, Aa or aA.

The phenotype of an individual will be recessive only if the genotype is aa.

Example 1
The ability to roll your tongue is controlled by a gene.

T- represents the ability to roll your tongue

t - represents the inability to roll your tongue

If you mate a homozygous tongue roller with a heterozygous tongue roller, what type of offspring could you have?

1) Make a Punnett Square.

2) How many offspring will be homozygous 

tongue roller? ___________

3) How many offspring will be heterozygous

tongue roller? ___________

4) How many offspring will be homozygous

non-tongue roller? ___________
Example 2

B- represents Brown Eyes

b - represents Blue Eyes

If you mate a heterozygous brown eyed man with a heterozygous brown eyed woman, what type of offspring could you have?

1) Make a Punnett Square.

2) How many offspring will be homozygous

brown eyed? ___________

3) How many offspring will be heterozygous

brown eyed? ___________

4) How many offspring will be homozygous

bue eyed? ___________
Example 3

D- represents dark skin

d - represents light skin

1) Complete the Punnett Square.

2) What is the genotype of the

 missing parent? ___________

3) What is the phenotype of the

 missing parent? ___________

4) What is the phenotype of the

 known parent? ___________

5) Circle the child with the 

different phenotype.

6) If you mated the two homozygous individuals from 

this Punnett square, what ratio of offspring would you

 get and what are their phenotype? Make a Punnett Square!
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[image: image1.png]The fact that offspring may have characteristics somewhat
different from those of their parents is primarily due to

(A) metamorphosis (C) mitosis
(B) maternity (D) meiosis
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[image: image2.png]Each root cell of a giant redwood tree contains 22
chromosomes. Two new cells that each contain 11 pairs of
chromosomes are produced when one of these cells
undergoes cell division involving the process of

(A) oogenesis (C) mitosis

(B) meiosis (D) synapsis
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[image: image3.png]‘Which process normally occurs at arrow B?
(A) germination (C) meiosis
(B) differentiation (D) mitosis
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[image: image4.png]Asexual reproduction primarily involves the process of
(A) ovulation (C) mitosis
(B) pollination (D) spermatogenesis
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[image: image5.png]The distribution of chromosomes in one type of cell
division is shown in the diagram below.
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‘Which process is represented in the diagram?
(A) asexual reproduction (C) mitosis
(B) meiosis (D) vegetative propagation
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[image: image6.png]The diagram below represents some stages of early embryonic development.
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‘Which process is represented by the arrows in the diagram?
(A) meiosis (B) fertilization (C) mitosis (D) evolution
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[image: image7.png]‘Which cell process occurs only in organisms that reproduce
sexually?

(A) mutation (C) meiosis
(B) replication (D) mitosis




8)
[image: image8.png]‘Which sequence represents the correct order of processes
that result in the formation and development of an embryo?

(A) meiosis —fertilization —ymitosis
(B) mitosis —fertilization —smeiosis
(C) fertilization —»ymeiosis —smitosis
(D) fertilization —ymitosis —smeiosis
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[image: image9.png]‘Which process is most directly involved in the production
of egg cells by a female frog?

(A) meiosis (C) regeneration
(B) metamorphosis (D) cleavage
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[image: image10.png]Some cells involved in the process of reproduction are
represented in the diagram below
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The process of meiosis formed
(A) cell 1, only (C) cell 3, only
(B) cells 1 and 2 (D) cells 2 and 3
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[image: image11.png]The diagram below represents single-celled organism A
dividing by mitosis to form cells B and C.

Cells 4, B, and C all produced protein X. What can best be

inferred from this observation?

(A) Protein X'is found in all organisms.

(B) The gene for protein X is found in single-celled
organisms, only.

(C) Cells 4, B, and C ingested food containing the gene to
produce protein X.

(D) The gene to produce protein X was passed from cell 4
to cells Band C.
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Cool Science Fact of the Week!


1. Blondes on average have more hair on their heads then brunettes and red heads.


2. Hair covers the whole body, with the exception of soles of feet, palms of hands, and lips. 





3. Left-handers usually reach puberty 4 to 5 months after right-handers.





4. 10% of the human population is left handed��5. Color blindness is a genetic disease that is observed more in men than women.





6. About 1 in 180 babies is born with a chromosome abnormality. 


7. About 50% of individuals with intellectual disability have a chromosome abnormality.





8. Only about 3% of the DNA actually codes for genes; the rest is often called "non-coding DNA" because its function is unknown
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5) One fifth of the oxygen we inhale is used up by the cells in the brain. 





The star Sirius B is so dense that a piece of it the size of a sugar cube would weigh several hundred tons. 


The speed of light, at 670 million mph, sounds very fast. But a light ray, at this speed, would take about 26 billion years to cross the visible universe. 


The universe is apparently infinite in extent. If you could travel a distance in light-years of one thousand trillion digits, you might find another planet identical to Earth with identical people


employees – rather than state employees.
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Important Reminders:


HW 14 is due January 17th


Reproduction Test this Friday!!!


Your Final is on January 19





Topics for the week:


Mitosis & Meiosis, Punnet Squares, Genes, DNA





Body                                Different                 Fertilize                   Mother                Sex                                              


Chromosomes               DNA                         Gametes                 Ovaries                 Splitting            


Clones                             DNA                        Meiosis                    Pairs                      Traits         


Daughter                        Father                      Mitosis                    Same                    Testes  
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